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IDLE, Q= {ww,w} BEARZERE LT 5 AR (Q,F,P) 2Rk X,
FRRE 2. MERZEM (Q, F,P) 2B VT, MEROTEHS L OCHERDARRMEN & B2 M
WTEI N2 E T,
1) FeF = 0<P(E)<1
2) B,,E, € F = P(FE\UE,)) = P(E\)+ P(E,) — P(E, N E,)
3) E€F = P(EC)=1-P(E)

FRRE 3. X ZMEHZEM] (O, F,P) T8I HMERERE L, F 2 X O0HEBET 5, £
7. O {x,} CR &EH aeRIZHL. & Tx, L aasn — oco) ZIRET 5,
Zorx, UNexrt

1) ﬂ{w‘X(w)gxn}:{w‘X(w)ga}

2) lim F(z,) = F(a)

n—o0

B4 X ZWERZERM (Q,F,P) T8I 5MEEHE L, a,b,ce R EZEHET DL &, Tl
RSB - SE AL DB DBEIZBENT, UTOMENRK LD Z & 2R,

1) E(c) =

2) E(cX)=cE(X)

3) V(X) = E(X?) - BE(X)*
4) V(aX +b) = a*V(X)

BRRES5. XY BHERZEM (O, F,P) I8 2MRERE T2 & &, MERABD R -
DI DIZEIZE T, AFOEERK D LD Z & 2R,

1) E(X+Y)=EX)+ E(Y)

2) X,Y N, = E(XY)=EX)E®Y)

3) X,Y PN, = V(X +Y)=V(X)+ V()
4) X,Y A — Cov(X,Y) =0
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